(DCM21)
ASSIGNMENT -1
M.Com. DEGREE EXAMINATION, MARCH 2023

Second Year
INTERNATIONAL BUSINESS

MAXIMUM : 30 MARKS
ANSWER ALL QUESTIONS

(a) Role of international trade.
@OBT AN HYFo B.
(b) Comparative cost theory of international trade.
@oég;ef@oio DEEY BoOTEE Hgah ?oq;oéo
(¢c) Strategic management.
Dgrs DESren
(d) Regional trade blocks.
[R0B0% HEE ey oen
(e) International logistics management.
0BT ey dYgres
() Multinational Corporation.
T0Y A 5260
(g) Multilateral agreements.
a)::mé‘éé\ojo 20)OT° 0
(h) Regional trade and cooperation.
[R°0B0% HE Ko HoBAW Warseso.

Briefly explain the Ohlin’s theory of international trade.
0BT HYEo By, a,igs ?og;oéo;éo EyDor DHBoHOHW.
Describe the strategic planning in MNCs.

MNCs & §o5398y8 (95798500 HG0od00.

Write in detail about international production and logistics.
@OBTAON &8) So8asw erey§ye K378y DYeore [FPosHW.
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ASSIGNMENT -2
M.Com. DEGREE EXAMINATION, MARCH 2023

Second Year

INTERNATIONAL BUSINESS
MAXIMUM : 30 MARKS

ANSWER ALL QUESTIONS
Discuss the role of international business in LDCs.

LDCs &° e06aa% g0 BodE), F 00 H8)0w050.

Bring out the designing appropriate structure of strategic management.

g BE DEGres GB0E); VDV WIEIZD DT §)8°b26026w.

Critically examine human resource management in MNCs.

MNCs &° 5705 D800 DY DT HEore HB8RO0YH®.

Elucidate the various negotiations in international business.

@OBHTAAR TFPEHNS’ I WO[HBOYOD IEBEBOYDW.

Enumerate the role of international organisations in multilateral agreements.

TV ::)g\oti) oSt @oé(g@o&) DORO B DHBOWODW.
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ASSIGNMENT -1
M.Com. DEGREE EXAMINATION, MARCH 2023

Second Year

MANAGEMENT OF INFORMATION SYSTEMS
MAXIMUM : 30 MARKS
ANSWER ALL QUESTIONS

(a) MIS.
MIS

(b) Computer networks.

Eorgeab ReSHE),

(¢) Information resource assessment.
DHTTS B6) @DII0eS

(d) System analysis.
?o‘égSo DR

(e) Communication concepts.
CARSTISTV IO ALV POV

(f)  Design levels.
DA PJERSEN

(g2) Decision making.

Y A0 BE7H06)

(h) Design consideration.

DN DD PODX.

Explain the conceptual foundations of information systems.

RWITPTY ‘&)g Hoo o3a3§b e,r:bmééé DATPEPORN DHBOYHDW.

Bring out the system development cycle.

éébé @@éq)g BDED0 i)S“bFGJZSJJ.

What are the recent trends in information technology?

DITTE DeoEAESE S0 D DsE e DD?
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ASSIGNMENT -2
M.Com. DEGREE EXAMINATION, MARCH 2023

Second Year

MANAGEMENT OF INFORMATION SYSTEMS
MAXIMUM : 30 MARKS

ANSWER ALL QUESTIONS

Elucidate the relational database management systems.

DOVOFRD BerB L DGR DY BIOI DFBEBOYDW.

Briefly explain the implementation and control of projects.

[PPBEO @000 D803 DA BEIVR) KGO DHBOYDN.

Write in detail about Hardware and Software.

IV 08050 vy DB DYOOrT [FEASVHY.

Discuss the designing online and distributed environment.

DHOTR SSB S DBASN DOVED DTG BeDNODB) BBYOBOBD.

Describe the Query language.
358 eronigdy HGoyHw.
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M.Com. DEGREE EXAMINATION, MARCH 2023

Second Year

ACCOUNTING: ADVANCED FINANCIAL ACCOUNTING

MAXIMUM : 30 MARKS
ANSWER ALL QUESTIONS

(a) Financial statements
D8 DDBE

(b) Valuation of shares
TP B0

(¢c) Financial reporting concept
28 daasgoﬁ VSV

(d) Reconstruction
DD 8&G°éeaéoo

(¢) Human resource accounts
DIPNN DB PeTeen

(f) Factors affecting goodwill
Ko&DS R0 (5o DD sEseen

(g) Inflation adjusted statements
IBS§oen Deren DBEe

(h) Merits of ratio analysis
DY IBAE (BT

Explain the objectives and scope of financial accounting.

eﬁgé ©5°0630R Baog); 5230255"03 $08a30 HDBBO[D IHB0BISN.

Discuss the various methods of goodwill valuation.

&S é\m@agog:ééoo o3oo§b DD ::)g HOON 68!)0;50333.

Following is the Balance Sheet of X & Co. as on 31-3-2020:
Liabilities Rs. Assets

Equity shares of Rs.10 each 1,00,000 Goodwill

Reserves 25,000 Fixed assets

(DCM23)

Rs.
50,000
1,50,000



Profit and Loss Account
Secured loan

Sundry creditors

Bank overdraft

Provision for taxation

Calculate
(a) Current ratio
(b) Liquid ratio

(¢) Absolute liquid ratio

40,000
70,000
50,000

30,000
20,000

3,35,000

Stock
Sundry debtors

Less: Reserve for

doubtful debts 1,000

Advances

Bank balance

Cash in hand

31-3-2020 7763 X & 50D 52 po ¢} 808 doadH8.

SIMOM

Toe 830,10 ST e85ed

TR0
Bastogen

gy é%@ T
EG SN

DDE 200T°H 0

2508 85557y
DY 5°EEL AoR)ew

B8),0%00:

(a) (@8 28

b) 936 o3

© DBIDE 8L A

8o°.

1,00,000

25,000
40,000

70,000

50,000

30,000

20,000

3,35,000

AN

DD msaLK‘@oe)o

&1 DossrEs
a8 Ba380g

VTGOV

275080 DO

BAS® HNS0

40,000
50,000

49,000
10,000
20,000
16,000
3,35,000

8o°.

50,000

1,50,000
40,000

50,000

~1.000 49,000

10,000
20,000

16,000
3,35,000
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Second Year
ACCOUNTING: ADVANCED FINANCIAL ACCOUNTING

MAXIMUM : 30 MARKS
ANSWER ALL QUESTIONS

(DCM23)

1. From the balance sheets and information given below prepare consolidated balance sheet.
Balance Sheets as at 31-12-2020

Assets

Fixed assets
Stock
1,00,000 Debtors

60,000 Bills receivable
30,000 Share in B Ltd.
15,000 (7,500 shares @
60,000 Rs.10)

e, A Ltd. B Ltd.
Liabilities Rs. Rs.
Share capital:
Share of Rs.10 each
fully paid 5,00,000
P& LAl 2,00,000
Reserves 60,000
Bills payable —
Credits 1,10,000
8,70,000 2,65,000

Additional information:

(a) The bills accepted by B Ltd., are all in favour of A Ltd.
(b) The stock of A Ltd includes Rs.25,000 bought from B Ltd. at a profit to latter of 20% on

sales.

A Ltd. B Ltd.
Rs. Rs.
4,00,000 60,000
3,00,000 1,20,000
75,000 85,000
20,000 —
75,000 —
8,70,000 2,65,000

(¢c) All the profits of B Ltd. has been earned since the shares were acquired by A Ltd. but
there was already reserve of Rs.30,000 on that date.

808 BOVH ey @Yo Ve VITT B erSon KD e @YPe YD HALO Baod.
—o [3] ] [

31-12-2020 63 e @Yo Do

g A Ltd. B Ltd.
P . 8.

DPET° DATCO (SR D

I8 D00 2,87 5),¢

8o°.10 DenHdKe Teeren 5,00,000  1,00,000

eres ;6%@ T 2,00,000 60,000

BasBogen 60,000 30,000

390 Deyen — 15,000

2200£35°H Q0 1,10,000 60,000
8,70,000  2,65,000

BB VIIPWPEHDN:

(v

S
?gof"é)_)oen

B

20083 {0 0
QAT DO

B Ltd. &° areren
(7,500 Treren @
83°.10 Q)

(a) BOWNBE ©oREB005 Deyen A YBEL Vo20HodHI.
b)) A dBE&E %@oéﬁ B 9208& 3008 §7%) 9608 85°.25,000 S0, IO OIREY 8 D

20% eg5H508" §Tan)80.

A Ltd. B Ltd.
8oe. Boe.
4,00,000 60,000
3,00,000 1,20,000
75,000 85,000
20,000 —
75,000 —
8,70,000 2,65,000




83°.30,000.

2.

3.

4.
(a)
(b)
(0)
(d)
(e)
(a)
(b)
©
(d)
(e)

5.

(©

B 908& ergrd) A dBE Treren §THme Sood ©802%. @38 &) Bassg

Bring out the objectives and types of financial reporting.
28 6@686005 BoE), 6§055°en 5085w FPeR DE7YDDB.

Elucidate the role of fundamental analysis and technical analysis in share valuation.
LT DOVDD 5%36‘00656 (D@08 D e HOBAIW O SE DB NE© F(BRO D3B5B0YIW.

From the following calculate the value of goodwill at 3 years purchase of super profits.

Average capital employed in business Rs.6,00,000.

Net trading profit of the firm for the past 3 years Rs.1,07,600, Rs.90,700 and
Rs.1,25,500.

Rate of return expected on capital invested 12%.

Fair remuneration to the partners for their services Rs.12,000 per annum.

Sundry assets of the firm Rs.7,54,762, current liabilities Rs.31,329.

Ho (808 IHBHNO 0E GHIBE rEred DG VoHB)YTO 0%y esprdor &S
ITPPOEHHD D03006E.

D‘“é@véoesﬁ c—té& D0 DATPO RV E3°.6,00,000.

K& 3 Dol o K)o‘g BBE); DY ©rgfHn HBvdNe 83°.1,07,600, 85°.90,700, 85°.1,25,500
HTOED Deyad P ©80dD ergo Bew 12 3o

PR WHO S BY0D B8 AEHN D0HBYTDS 85°.12,000

}’oo‘é) o3oo§b Ealarlefor) SO e 8I°.7,54,762 L‘&)?’o:)oé @QpPe0 8°.31,329.

The following is the Balance Sheet of Mohan Ltd. as on 31-3-2018.

Liabilities Rs. Assets Rs.

10,000 equity shares of Rs.10 each Fixed assets 2,20,000
fully paid 1,00,000 Current assets 1,10,000
10,000 equity shares of Rs.10 each Preliminary expenses 5,000
Rs.8 per share paid-up 80,000 Floating assets 5,000
10,000 equity shares of Rs.10 each
Rs.5 per share paid-up 50,000
Reserves 50,000
Profit and Loss Account 50,000
Creditors 10,000

3,40,000 3,40,000

The normal average profit of the company (after tax) will be maintained at Rs.46,000 and
normal rate of return is 8%.

Calculate the value of each type of equity share by the net assets method and yield method.
e OWBE e eype D& 31-3-2018 9 BES (808 DeEsHOM 8.

QP 8o, SISVCY &oe.
10,000 &585e3 eearen 2.87,%)¢3 Qo en 2,20,000
80, 10 S 5978 D909 1,00,000 (DR ese0 1,10,000
10,000 5853 rearen 287,563 BrG0E B0 5,000
85°.10 71D D68 8°.8 710 3Y0odID 80,000 Vo 5,000
10,000 &585e3 meoren 2.8°) 5,3
85°.10 <71 D68 83°.5 S0 39 0ddD 50,000

Bastogen 50,000



gy ;6%0 e 50,000
22089°H e 10,000
3,40,000 3,40,000

eS0T E00d ‘&)?6%1 HOeE® 8°.46,000 DA &rgIH EOR 906008, dpeSes ergi) Bew 8%.
REE 30 IES H08A80 Td IES P 7S DD BE),05050.
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ASSIGNMENT -1
M.Com. DEGREE EXAMINATION, MARCH 2023

Second Year

ACCOUNTING: ADVANCED COST AND MANAGEMENT ACCOUNTING
MAXIMUM : 30 MARKS
ANSWER ALL QUESTIONS

(a) Cost allocation

5503 BeranoY

(b) Limitations of standard costing
(PR3 F505Tr0EH0 BooE); V8B

(¢) Life cycle costing analysis
DB H|E HYOSTOED B xed

(d) Flexible budget
NS 2GS
@ 23

(e) Value analysis

DD JBAEd

() Role of cost accounting
55050 @5 0e3oR

(g) Factory ledger
s 8 CShley

(h) Joint products
e,;soé& S0

Define Cost Accounting. Explain its nature and scope.
b?SoSo @3 03 0f o DEZI0D, T BoE); VKETD DN 20BN BN DHBoYyHDw.

What is job costing? Discuss the main features of job costing.
P SPOR OIMTIN? &rd SYoh BNE); LEETod HBoBIDY.



Ajanta Ltd. manufacturers and sells 3 chemicals produced by consecutive processes known
as X, Y and Z. 2% of the total weight put-in is lost and 10% is scrap in each process. The
scrap from X and Y processes realised Rs.100 per tonne and Rs.200 per tonne from Z process.
The details in each process are given below:

X Y /
Sent to warehouse for sale 25% 50% 100%
Passed on the next process 75% 50% —
Materials used (tonnes) 1000 140 1348
Cost per tonne of materials (Rs) 120 200 80
Manufacturing expenses (Rs) 30,800 25,760 18,100

Prepare the process accounts in each process.
ozzoz dBE 3 8570 6D X, Y S08050 Z e @000 Tgoe H05rEd DR @duydoos.

(D8 PPRS” (3% DYVED DYo KNS’ 2% BB HB8ASN 10% BT BenBrod. Se
BIKY);

X 508050 Y [272006° 6059)50 18 $5°.100 © S5 S08a5w Z ZrnedS® 0235950 18 85°.2000 S71d
DA D08, S BROD BYYD D50°08" X, Y $08050 Z 20000 graren &o5irsd Dosod.

X Y 7
o558 REORE HoH B 25%  50%  100%
BTH (D WRE DoDIA 5%  50% —
EDBTR0DD 0 B00S) 1000 140 1348
1 £2%59) Do3B0S (83859)08°)

120 200 80
(B2rasoe’)

&T)SE B0 (Brra0S’) 30,800 25,760 18,100
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Second Year

ACCOUNTING: ADVANCED COST AND MANAGEMENT ACCOUNTING
MAXIMUM : 30 MARKS

ANSWER ALL QUESTIONS
1. Prepare a flexible budget at 60%, 80% and 100% capacities from the following information:
Rs.
(a) Fixed expenses 1,49,500
(b) Semi-variable expenses at 50% capacity 89,500
(c) Variable expenses at 50% capacity 2,67,000

Semi-variable expenses remained constant between 40% and 70% capacity increased by 10%
between 70% and 85% capacity and by 15% between 85% and 100% capacity. Sales at 60%
capacity are Rs.5,10,000 at 80% capacity Rs.6,80,000 and at a 100% capacity Rs.8,50,000
(Assume that all products are sold).

&e 18508 VIS0 Doodk 60%, 80% HDo8asn 100% Frdogso Mo ea?cgd a)%éfi_:éo BOIIEd DASrod.

&oe.
(a) ?C\D)CS 2550500 1,49,500
(b) 8E HG Hgavoo (50% DY 50) 89,500
() B8 Hgaren (50% Hgs0) 2,67,000

88 DY H5o50H0e0 40% So80%20 70% @véog§o 5¢ ?égdom 085000, T0% HDdod 85% @vbog§o
JEE 10% H0803%0 85% o0& 100% 0850 DEL 15% S DB, 60% DrD0Z g0 HG
@K)oéven 85°.5,10,000, 80% @vbog?so :ﬁg @:ﬁo&s‘en 83°.6,80,000 Ho8o3» 100% @vbogéo ég
85°.8,50,000 (&8)d @00 HpHew eag)o&:é&}“)m POV IB )

2. What are budget and budgetary control? Discuss the various essentials and advantages of
budgetary control.

G BAN wGewd KoEs’S ImIN? wgewd KoEF'S Bw), 20§ eDBETed HoBAW
(DBrared B8yodod.

3. Define cost report. State the different kinds of cost reports.
H50% DIBED DESV0D, IV K50 $50%0 DDBEDD0 BOYSN.

4. From the data given below, calculate:
(a) Material price variance
(b) Material yield variance and
(¢) Material mix variance
Raw material Standard Actual
A 80 units @ Rs.40 per unit 100 units @ Rs.42 per unit
B 70 units @ Rs.30 per unit 70 units @ Rs.35 per unit



808 1S SBozed8

(a) VBB FY BT

(b) VBE® TP VS

(€) VBB OBD DDEIONY EDINRDIDN.

AV RlojeSy (DDI°ETC TRADH0
A 55°.40 ©8° 80 %o 85°.42 ©8° 100 c5o5°Re
B 85°.30 ©8° 70 cSorden 85°.35 ©8° 70 o%orrRex

A company has three production departments and two service departments. Distribution
summary of overheads is as follows:

Production Departments:

A Rs.13,600
B Rs.14,700
C Rs.12,800
Service Departments:
X Rs.9,000
Y Rs.3,000
The expenses of service departments are charged on a percentage basis which is as follows:
A B C X Y
X Department : 40% 30% 20% — 10%
Y Department : 30% 30% 20% 20% —

Apportion the cost of service departments by using the repeated distribution method.

28 Eod Jory &¥)® Ierreny 8ok W dgrmreny SOR BB, LH5E) Do
dofror s 1808 Do &8.

&éfg)eg DgIITeen:
A 8o°.13,600
B 8o°.14,700
C 8o°.12,800
VT Dren:
X 85°.9,000
Y 85°.3,000

VT PO PENORO BT (VBT BKOD Do Q’°§ 3035O:

A B C X Y
X &avdegbooeoo : 40% 30% 20% — 10%
Y &3?68500&)3 : 30% 30% 20% 20% —

W DK ;523055"0260 ééo)e_?; D Os) JEBNE D026 ‘;)ge? 2 K)%"Bo;ﬁo&.



(a)

(b)

(©

(d)

(e

(®

()

(h)

“Tax liability of a person depends on his residential status” — Discuss.

ASSIGNMENT -1
M.Com. DEGREE EXAMINATION, MARCH 2023

Second Year

ACCOUNTING: TAXATION
MAXIMUM : 30 MARKS
ANSWER ALL QUESTIONS

Previous year
K& 05880

Agricultural income
DALY esTaso0

Income from other sources
QHE HIBO HooG esteoId0

Section 80C
g~ 80C

Provident Fund
#5955 08
Tax deducted at source

$05°00 3006 DY BR0Y

Appeals

@%)Q)J
™

Total income

2>oo§ O €3TPOIIDN

(DCM25)

“o.8 bé% Boo¥); DIY) erEgE ©BD ATV (HSVY P By DG G008’ - HByoWIDD.

Describe the capital gains exempted from tax.
‘&)?6%1 B00& DTV D0 DTV ED ereredd bgo‘@boo.

Mr. Ganesh is an employee posted in Hyderabad. The following are the particulars of his
salary income.

(a)
(b)
©

Salary Rs.60,000 per month

Dearness allowance Rs.30,000 per month (enter for service benefits)

House rent allowance 15% of salary



(d)
(e)

®
()

(h)
@

Free medical facility Rs.40,000

He is contributing Rs.6,000 per month towards recognised provident fund. The
employer is also contributing the same amount.

During the year, he paid Rs.3,600 as professional tax.

Life insurance premium as follows:

(i)  On his life premium paid Rs.36,000 per annum.

(i1) On his wife life premium paid Rs.60,000 per annum.
Amount paid under public provident fund Rs.40,000 per annum.
He purchased a National saving certificate for Rs.25,000
Compute the total taxable income of Mr. Ganesh.

& HB, 3P BTrerdS® &6 o DABITYE. BB BB ST°AH DT JU° PHIYOD.

(a)
(b)
(©
(d)
(e)

®
(g

(h)
@

DB D0 0K 83°.60,000

EB02) B0 0L 85°.30,000 (B (DBIcET O 6§boiﬁowé’s GABIRODEL)
2063 00 DDy BBDN P 15 TBIW.

&I ?_CS?S REIFO30D0 &3°.40,000

@B VK §3°.6,000 K080 08D @G5 Dok rES® ey Dary. @od T
AT GE A BEYS @D B

‘{ooéérowg)g %O 8I°.3,600 :)Q)Q?L Y & TR,

BB DT (OO ISTeD FE® &TON.

() B3 9508 B8 D57 HDA0O K3°.36,000 D05HYTDE BYoB0.

i) &S a5°6§ 298 DI [?,J&'DOSQO ‘X)obéfgo@’&’)g &5°.60,000 39203?60.

00HHYTD8 83°.40,000 DY (0TS Do&S® wdo Bo.

0% 2PAO0 FEIY) DTeen 8I°.25,000 §PH0R en DR,

& K& BoE); B0 DY DOV eTPA3I0D0 EHOR"HIHW.
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ASSIGNMENT -2
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Second Year

ACCOUNTING: TAXATION
MAXIMUM : 30 MARKS
ANSWER ALL QUESTIONS

1. Krishna has one house property in Guntur. He stays with his family in the house. The rent of
similar property in the same locality is Rs.30,000 p.m. The municipal valuation is Rs.28,000 p.m.
Municipal taxes paid Rs.10,000. The house construction began in January 2014 with a loan of
Rs.25,00,000 taken from SBI Housing Finance Ltd. The construction was completed on 31.12.2016.
The accumulated interest up to 31.3.2016 is Rs.1,80,000. During the previous year 2020-21,
Krishna paid Rs.2,60,000 which included Rs.1,90,000 as interest. Compute Krishna’s income from
house property for the assessment year 2021-2022.

BRE 0rEdS” a8 ()Y Ko, Bty & Kyrod® B3 Heowod Sod FHVNTYE. ©B
DEIPD @voéoe?ex) Kq):ﬁi’(g BE); @é Qo8 &i°.30,000. YBr0E Jed 08 &i°.28,000.
3Y0dD YEFrE DdYe 83°.10,000. SBI TF0oR Py . 5 @058 20148° 85°.25,00,000.
200830 BED Ky DoREs0 [D80gowesd. 31.3.2016 H My doReso JrZawds. 31.3.2016
DO BB HG 6°.1,80,000. K wodHYT0 2020-21 % BQ 3Y0dI8 83°.2,60,000 20&>S”
éé 85°.1,90,000 &:)8. 2020-22 D3 X)o;dsa QoSBT Lég BE); Kq)ﬁ?é) oé& estrasrR)
Ke3oHos.

2. Explain the incomes of others that are included in the total income of an assessee.
@?o?o“) DB DN e3T°a5006° EenDad aBY 95500 T AT VN DHBoWIBN.

3. Discuss the permissible deductions from gross total income.
Kxg@ DB DN BSWOIIHN D008 ©980908H0D éﬁo‘:@om 98y0H0d0.

4. The following details have been supplied by the karta of a HUF. You are requested to
compute the gross total income and total income of the family for the current assessment

year.
Rs.
Profit from business 3,28,000
Salary received by a member of the family 32,000
Director fees received by the karta 24,000
Rental value of the property let 2,88,000
Municipal taxes 3,200
Dividends (gross) 1,800

Long term capital gains from the transfer of assets after indexation 40,000

Donation to a college which is an approved institution 16,000



Profits from a firm 40,000
Short term capital gains 27,000

Life insurance premium paid 32,000

28 TPOBT® LY L6000 Y & (808 IHT°OH) BOBNTNE. (DNG DY DB D0HBYoPD3S

2020809 KJ{;@ DY B ST°0500 HoBA5N DY o eTrairR) B)0Bod.

.

:5;3@%6 eI 3,28,000
6008 DEYED VBN B0 32,000
58 V5EB0DD G IO D 24,000
eagébogm&é e;e?ap) g8 Deod 2,88,000
H00VIS DIy 3,200
Ao GaBo) 1,800
ISV 289 Heb AR 833*@3’ BP0 ergren (AordEYe

55 40,000
K080 08I Eorzreddd doedo 16,000
K)o‘g [SAALIOV) 40,000
A5®) 5708 Jo0ES ergren 27,000
29025 BB HHI® (A0 32,000

The profit and loss account of a firm in which the partners Ravi, Kiran and Shyam share
profits in the ratio of 5:4:1 respectively, discloses a profit of Rs.2,40,375 for the previous year.

Profit and Loss Account

Rs. Rs.
Donation to National Defence Fund 33,000 Capital gain on sale

Salary to partners: of machinery 15,000
Ravi 45,000 Interest on debentures

Kiran 57,000 after TDS of Rs.16,500 58,500
Shyam 66,000 1,68,000 Interest on securities (gross) 10,500
Commission to Ravi 18,000

Office rent (Paid to Y) 36,000

Compute the total income of the firm and partners for the current assessment year.
fata) K)oéé“)crfoé a8 K)o‘é) eres ;6%0 PeT° (D580 c%:éol eI 8°.2,40,375 &4 K)o‘éé‘s aw{}()cge»m
&0t 89, 856, ?55300 5:4:1S° ergroby DowrEI0enTE.
gy é%@ T
e, 8.
e AA BEes DB DTEHN 33,000 GS0[BO ®IRT HVI DIOED 15,000



8oe. Eoe.

[SRANIV)

S Been: BarergeEos® DY) 87°.16,500
B TF000Y BT H9YS EBoDI D

59 45,000 o 58,500
54

8585 57,000 wErgBde P Hayd Az 9 10,500

30559 66.000 1,68,000

395 ¥doadS 18,000

Y5 39099 S°U°§e>ot$oo

- o 36,000
(&)

Q

B DY) DT Bes VoIBR8 WoR B80S AN NG 0 estrasrr)) B8)0wHod.
-0 &) (&) - —0

fox



